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�11 - AGGREGATE SUPPLY, AGGREGATE DEMAND AND THE PRICE LEVEL



Macroeconomic policy is concerned with minimising deviations between potential and actual GNP. When actual growth exceeds or is too close to potential growth, inflation can arise. If actual growth is much less than potential, there is an underutilisation of the productive capacity and, consequently, unemployment. Therefore, for policy-makers it is important to understand the relationship between the price level and total output if they want to provide a stable economy, in which low inflation is twinned with steady growth and low unemployment. The Aggregate Supply / Aggregate Demand (AS/AD) model is a simple framework of classical derivation in which the equilibrium levels of output and price are determined by the intersection of AS and AD curves. This model offers the basic tools for understanding the effects of fiscal and monetary policy management. In this chapter, besides the description of the national accounts, of potential and actual GNP, the derivation of both curves are explained.





(  QUESTIONS FOR DISCUSSION



Q1. Considerable resources are spent by the statistical authorities in deriving estimates of GNP. From a business perspective, would you say that this exercise is a worthwhile and valuable one?



GNP statistics are useful for business for several reasons. First, firms can use them to compare living standards in different countries and derive estimates over the size of markets which can assist investment decisions. Second, the actual growth rate and the comparison between actual and potential GNP are important for business sales forecasts.  These figures throw light on the likely evolution of market size.  Also they can be useful for predicting changes in economic policy.  For example, a high growth rate usually implies positive expectations for the future trend of sales, helping the process of deciding whether or not a new investment is worthwhile.  But, if the GNP is very close to potential GNP, the fear of the economy overheating might lead the authorities to increase the interest rate.  Such information is useful to business.



Often firms will be as interested in statistics concerning the component parts of GNP, as in the aggregate figure itself.  A huge amount of effort goes into constructing each building block for GNP.  Firms can request the central statistics office to prepare special printouts of information on consumer spending, industry output, exports and imports of specific product groups and demographic features of particular areas. 





Q2. What is the difference between actual and potential GNP? How is potential GNP calculated? Of what practical use are potential GNP estimates?



Actual GNP is the value of current output produced by productive factors owned by permanent residents of a country. Potential GNP is defined as the maximum output attainable with full utilisation of productive factors and consistent over the medium term with low inflation. Two observation are worthwhile:



i). Potential output is different from maximum output in an engineering sense (and the first will be lower).

ii). The concepts of low inflation and medium term are open to different interpretations.



There are two ways of estimating potential GNP: through the analysis of the past trend of the growth rate or through the production function approach. This second estimate, regularly produced (for example by OECD), is computed as follows:



i)  Separate private from public sector (due to the difficulty of measuring output in the latter, actual government output is assumed to be equal to its potential).

ii) Estimate the growth of productive inputs.

iii) Estimate the utilisation levels consistent with low inflation.

iv) Assess the impact of new technologies and changes in economic policy on economic activity.

v)  Derive the total factor productivity growth.

vi) Combine the previous statistics together in order to obtain an estimate of potential growth for private sector and then re-aggregate the public sector to obtain potential GNP.



Since deviations from potential GNP in either direction can cause problems (inflation if actual exceeds potential GNP and unemployment if the former is far less than the latter), its estimate gives a guidance to economic authorities in the management of monetary, fiscal and industrial policies. Besides, business economists use estimates of potential GNP to estimate future economic growth from which sales forecasts are derived.





Q3.  Discuss reasons why the aggregate supply curve might be vertical. Do you find them convincing?



In the classical model the aggregate supply (AS) curve can be considered a proxy for potential output and represents the possible combinations of real output (y) and the price level (p) consistent with equilibrium in the economy. Under certain assumptions AS is vertical:



i)  Individuals are utility maximising.

ii) Firms are profit maximising.

iii) Markets for factors of production and goods are perfectly competitive (full flexibility of prices and wages).

iv) Existence of rational expectations (absence of money illusion).



The AS curve can be derived as in figure 11.1: the starting point is the equilibrium in the labour market in which demand and supply are functions of the real wage. Given a certain price P0, demand and supply of labour become related to nominal wages as the equilibrium in point A - graph (a) shows. Students should pay attention to the variable plotted on the vertical axis for this demonstration: it is the nominal wage, not the real wage used elsewhere in the textbook.



A rise in the price level from P0 to P1 implies a decrease in the real wage. Because the cost of labour has now fallen, employers demand more labour for the same nominal wage, hence the shift of demand of labour to the right to D(P1). However, supply of labour decreases because workers are free from money illusion and perceive the reduced purchasing power of their wages, hence the shift of supply of labour to the left to S(P1).



The equilibrium is restored in point B with a higher nominal wage which increase cancels out the increase in the price level, thus maintaining the same real wage. This implies the same quantity of labour (L0) employed in the economy and, through the production function - graph (b), the same total output Y0. Hence, in graph (d) we observe that the same level of output Y0 is attained with two different price levels (P0 and P1) , implying a vertical AS curve.
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The slope of the AS curve is an important issue in the macroeconomic debate. This is not only a theoretical exercise because the slope of AS determines the effectiveness of economic policies. In this regard, it is useful to distinguish between the long run and the short run (that is defined as the period of time in which, because of imperfections, the price mechanism cannot adjust to the new conditions in the markets). 



At least two models are relevant in the short run, both dealing with imperfections in the labour market. They are explained as follows, complementing the information given in the text.



i) The first one is called the sticky-wage model. After the increase in the general price level from P0 to P1, profit maximising firms shift their demand of labour from D(P0) to D(P1); due to rigidities (i.e., minimum wage or contracts signed before the increase in inflation), in the short run workers have to accept to work for a lower real wage and cannot shift their supply of labour which is still S(P0): the new equilibrium in the labour market is in point C - graph (a). There is room for employers to increase employment (and output) from Y0 to Y1 because the marginal cost of labour has decreased. Hence, because of an increase in the price level from P0 to P1, output increases from Y0 to Y1 - graph (b): AS curve is positively sloping - graph (d).



ii). The second alternative model is called the worker-misperception model. After the increase in prices, workers are offered a higher nominal wage.  Because of money illusion, they perceive this increase as an increase in their purchasing power.  Their supply curve shifts to the right and the equilibrium real wage falls.  Again, the decrease in the cost of labour allows firms to produce a higher level of output: AS is positively sloping.



While these imperfections can affect the slope of the AS curve in the short run, this irrational behaviour is unlikely to persist for a long time; eventually workers will respond in the classical manner and the AS curve will be vertical. There is disagreement, however, on the length (and therefore the political relevance) of the short term: it is assumed to be 1-2 years but new-classical economists argue that is much shorter than that.





Q4. What is the aggregate demand (AD) curve? Why does it slope downwards? What might cause it to shift outwards?



The Aggregate Demand (AD) curve is the combination of price level (P) and output (Y) consistent with equilibrium in the money market. It represents the demand side of the classical model of equilibrium in the economy.



It can be derived from the quantity theory of money which can be written as:



MV = PY



where M = money supply in the economy (controlled by the central bank); P = general price level; V = technical parameter representing the velocity of money; Y = real output in the economy.



When the price level increases and we assume constant money supply (the central bank does not intervene), a disequilibrium in the money market appears: there is a decrease in real money balances M/P.  In other words, agents in the economy have less purchasing power and are forced to diminish the number of transactions in order to restore the equilibrium.  Output goes down to match the shortage of demand and the AD results downward sloping: when prices go up, output goes down.



While the slope of the AD depends on the negative relationship between P and Y, its position in the quadrant is determined by several other factors:



i) Money supply. An expansionary monetary policy increases real money balances providing more money for transaction purposes. That is, for a given output, prices rise to restore equilibrium or, for a given price level, output increases to match higher demand: the AD shifts outwards.



ii) Velocity of money. An increase in the velocity of money means that economic agents have more money available in the unit of time, being this situation similar to an increase in real money balances: the AD shifts outwards.



iii) Expectations on the future. An improvement of business expectations leads to higher investment, which is a component of the AD, shifting the curve outwards.



iv) Being the AD = private consumption + private investment + government spending, also an increase in the marginal propensity to consume and an expansionary fiscal policy shift the curve outwards.



v) A decrease in the interest rate affects AD position indirectly, changing the pattern of the three components of AD: it increases private consumption because it reduces its opportunity cost (less remuneration of saving); it increases private investment because it reduces the cost of borrowing money, rendering new investments more profitable; it reduces the cost of public debt, rendering more resources available for the government for current and capital spending. The AD shifts outwards.





Q5. What is money supply? How might it be controlled by the authorities? What forces in the economy tend to bring money supply and money demand into equilibrium?



Money is always difficult to define and different definitions are available to catch the different degree of liquidity of a range of financial assets. The narrowest definition is:



M0 = notes and coins held by the public and commercial banks balances with the central bank.



This definition can be widened to include several types of deposit of banks, financial institutions and building societies.



Money supply is the amount of money that the central bank decides to provide to the economic system. The central bank has the legal power of printing and supplying money: in this sense money is determined exogenously, outside the economic system (MS is vertical in figure 11.2). In modern economies, commercial banks have the possibility to increase money supply through deposit-creation.  The advent of new technology has made the process of controlling money supply increasingly complex.  As explained at p. 342, the instruments in central bank's hands to change money supply are the following:



i)  Change in the minimum amount of reserves (monetary base) that banks have to hold in order to lend money.

ii)  Open market operations.

iii) Change in the discount rate, the official rate of interest charged to commercial banks when they borrow money from the central bank.



The money market works as any other market with a price clearing supply and demand. The price of money is the interest rate. If the interest rate was above the equilibrium level, there would be excess of supply and this would lead down the price of money until supply would meet demand.



We have to be aware of the movements of both money supply and money demand. Money supply can change because of open market operations and, in small open economies, because of the change in the world interest rate. Any increase in Money supply pushes down the equilibrium interest rate to r1 (in figure 11.2, the equilibrium moves from point A to point B), as any decrease pushes interest rate up.



Money demand can shift because of changes in income, price level and velocity of money (see question 4). For example a growth in income increases the demand for real money balances: MD moves outwards and the equilibrium is restored through an increase in the interest rate to r2 (point C in figure 11.2).





�����������������������





Q6. In the short run, the AS curve is often drawn as upward-sloping. What is the reason for this? What is the economic significance of this?



As we have seen in question 3, if there are imperfections in the functioning of the markets, as it is in the short run, there can be a positive relationship between price level and output. These rigidities can affect the labour market (sticky wages) or the good market (sticky prices). Four different models (describing different types of rigidity) are here explained, integrating the information given in the text.



i) Sticky-wage model: wages are sticky in the short term because of pay rigidities (previous signed contracts): an increase in P implies a decrease in real wage and in the cost of labour, thus increasing output (see figure 11.1 - the equilibrium moves from A to C).



ii) Worker-misperception model: because of money illusion, workers agree to work for a lower real wage (for example, they see an increase in nominal wages but they don't perceive an even higher increase in prices). A higher level of output is therefore attained.



iii) Imperfect-information model: this model is similar to the previous one but it does not assume that firms have perfect information either. Both workers and firms have adaptive expectations. If an increase in price level happens, they do not perceive this change in first instance and they take time to adjust to the new situation; in the meanwhile the AS is upward sloping.



iv) Sticky-price model. If prices are sticky in the short run, suppliers do not instantly adjust their prices in response to increases in demand (because of the hassle of changing prices frequently or because of previous agreements between producers and consumers). In this extreme case the AS is horizontal.



The significance of a positively sloping AS is twofold.  First, any change in the AD has positive effects on income.  If the AS is positively sloping, an outward shift of the AD (due for example to expansionary fiscal or monetary policy) has the effect of moving the equilibrium to the right: a modest increase in P is linked to a growth in total output and therefore employment (see figure 11.3 - increase from Y1 to Y2 and from P1 to P2).



Second, the possibility of increasing output shows that labour or other productive factors are not fully employed.  Suppose the AD shifts outwards and, as a consequence of sticky-wages, workers end up working for a lower real wage.  Output and employment, both increase as a result in the fall in wages.  Therefore, pay moderation is the key to cut unemployment.  This policy has the advantage of being effective also in the long run (because it moves the vertical AS to the right) while fiscal and monetary policies are effective only in the short term, the period in which the AS is upward sloping.
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( EXERCISES



Q1. Which of the following transactions should be included as part of GNP?

(a) A consumer pays £10 for a meal at the restaurant

(b) A company buys a plant from another firm for £1 million.

(c) A supplier sells computer chips to another firm that makes personal computers.

(d) A person buys a second-hand car from a dealer for £5,000.

(e) A person buys a new car for £15,000.

(f) A factory, which produced £2 million worth of PCs each year, closes down.



(a) Yes: the consumer buys a product, increasing the level of output of the economy.

(b) No: this is financial investment. The plant already exists and there is only transfer of capital from one firm to another.

(c) No: only the final value of the personal computer is included in the GNP to avoid double counting (the cost of the chip is part of the computer's final price). On the other hand, using the value added method, we can record in the GNP the value added of producing chips. To avoid double counting, only the value added of the personal computer (the final good) will be successively recorded in the GNP.

(d) No: Only the value added of this transaction is recorded in the GNP.

(e) Yes: the consumer buys a product, increasing the level of output of the economy.

(f) Yes: this is recorded with a negative sign equal to the value added previously produced by the firm.





Q2. A person saves £10,000 of this year's income and spends it on new machinery. Explain how this would be recorded in the national accounts. Another person takes £10,000 from under the mattress and buys shares in a British company. Would this be recorded in GNP?



The first decision is new investment and will be recorded in GNP.  Investment will increase by £10,000 and so will saving.  The second decision is only financial investment.  That person is not investing in real terms; s/he is only buying capital that already exists.  It is what national income statisticians call a transfer payment; therefore this transaction is not recorded in GNP.





Q3. Consider an economy with only three goods. Their market prices are P1 = 5, P2 = 10 and P3 = 15. The production (and consumption) of each good during 1995 was Q1 = 20, Q2 = 25 and Q3� = 10.

(a) What is the value of nominal GNP?

(b) Assume that in 1996 prices rise to P1 = 6, P2 = 12 and P3 = 17, and quantities produced (and consumed) go to Q1 = 21, Q2 = 27 and Q3 = 11. Calculate the value of nominal GNP. Compute real GNP, using 1995 prices as the base year. What is the rate of inflation? What is the real rate of growth of the economy?



GNP95 = P1Q1 + P2Q2 + P3Q3 = (5 x 20) + (10 x 25) + (15 x 10) = 100 + 250 + 150 = 500



GNP96 = P1Q1 + P2Q2 + P3Q3 = (6 x 21) + (12 x 27) + (17 x 11) = 126 + 324 + 187 = 637



real GNP96 is calculated using 1995 prices and 1996 quantities.



real GNP96 = (5 x 21) + (10 x 27) + (15 x 11) = 105 + 270 + 165 = 540



real GNP index: GNP95 = 100

GNP96 = (540 / 500) x 100 = 108



real growth rate = (real GNP96 - real GNP95) / real GNP95 = (540 - 500) / 500 = 40 / 500 = 0.08 = 8%



GNP price deflator = (nominal GNP / real GNP) x 100 = (637 / 540) x 100 = 118



inflation rate = (nominal GNP - real GNP) / real GNP = (637 - 540) / 540 = 18%





Q4. Use diagrams to explain the following statement:

Outward shifts in the aggregate demand curve affect output only temporarily, whereas outward shifts in the aggregate supply curve affect output permanently. And, whereas a positive demand shock raises prices, a positive supply shock reduces them

������������������������������������������





As shown in figure 11.4, the effect of an outward shift in the AD curve depends on the time period under consideration. In the short term, rigidities in the price and wage structure might affect the slope of the AS curve, being upward sloping when these bottlenecks exist. The consequence is an increase in both price and output levels of equilibrium (from point A to point B in figure 11.4 -a).



Since AS is vertical in the long run (as implied by the classical assumption of no money illusion), a shift outwards of the AD curve has only the effect of increasing the price level from P�0 to P2, since wages fully adjust to movements in prices. The policy consequence of this model is clear: Expansionary monetary and fiscal policies, which move the AD curve outwards, are effective only in the short period; in the long term, since economic agents are rationale and freed from money illusion, these policies only create inflation.



On the other side, as shown in figure 11.4 - b, a movement to the right of the AS curve (due to more flexibility in the labour or capital markets, low real wages or technological improvements) shifts the equilibrium level of output to the right and pushes down the price level from P0 to P1.  Even here, the policy implication of the classical model is clear. Only changes in the productive structure can increase national income. If unemployment exists, this is caused by rigidities in the labour market. More flexibility and pay moderation are the keys to reduce unemployment and, through shifts to the right of the AS curve, to boost GNP.





Q5. Suppose the national accounts for a country showed the following figures:

wages and salaries: £400

investment: £200

money supply: £450

corporate profits: £100

rents and interest: £150

depreciation: £50

indirect taxes less subsidies: £70

dividends sent abroad: £50

income from agriculture: £70

Compute the value of GNP and GDP



National Income = Employees' compensation + Income of self employed + Corporate profits + Rents and interest = 400 (wages and salaries) + 70 (income from agriculture) + 100 (corporate profits) + 150 (rents and interest) = 720



Net National Product = National Income + Indirect taxes less subsidies = 720 + 70 = 790



GNP = Net National product + Capital depreciation = 790 + 50 = 840



GDP = GNP + Net payments of income from/to abroad = 840 - 50 = 790



Investment = £200 is not used because already included in National Income.



Money supply = £450 is the amount of money supplied to the economy. It is not included in the national accounts.





�12 - INFLATION AND CENTRAL BANKS



Modern economies are characterised by two major problems: inflation and unemployment.  In the previous chapter we have briefly analysed these two variables in the context of a simple classical model using the AS\AD framework.  Now we study inflation more closely, trying to understand the nature, the causes, the costs and the possible solutions.  We have also to be aware that not only inflation is bad for a society, but the distribution of its costs is not equal among groups of citizens and components of the economy.

To establish and maintain price stability is a major task for any government.  Inflation can disrupt the business environment and easily get out of control.  Given the relationships with exchange rates, interest rates and monetary policy (which will be highlighted in next chapters), business needs to understand inflation and its consequences if investment decisions are to be properly assessed.





( QUESTIONS FOR DISCUSSION



Q1 How is the inflation rate calculated? Why might standard measures of inflation overestimate the 'true' rate of price increase? Why does it matter if they do?



Inflation is calculated as the percentage change of the total money cost of a basket of consumer goods and services.  The basket of goods should be a representative sample of the spending pattern of the average household in the economy.  Problems of calculation include:



i) The choice of the goods and services included in the basket. Consumption patterns change along the time. As the standard of living rises, new goods are consumed, old goods are not produced anymore, certain goods change specifications and improve quality. The basket has to register as much as possible all the movements in the type and quality of household's spending, and for this reason it is revised periodically.



ii) The choice of how to calculate prices: prices differ according to the type of shop (small shop vs. supermarket), the place (city centre vs. suburbs), the type of consumer (i.e., student discounts) and the time of purchasing (i.e., discounted cinema tickets in the afternoon).



There are three main sources of overestimation bias:



i) Composition bias: this refers to the delay in incorporating new goods into the consumer basket. If consumers substitute old expensive record players with new cheap CD players, the delay in recording this change can lead to overestimation of true inflation.



ii) Quality bias: this refers to the changing quality of existing goods. New cars can be more expensive than old cars, but the difference in price can be due to higher quality (increased resistance, new technology…). If the new car is considered as the old car, this creates an upward bias in recorded inflation.



iii) Substitution bias: this refers to the change in relative prices. Consumers tend to substitute away from more expensive to cheaper goods and from more expensive to cheaper retail outlets (outlet bias). If the statistics fail to register this shift, inflation results overestimated.



Errors in inflation estimates can affect the economic system in several ways: first, monetary policy management would be biased and, depending on the economic authorities' goals, the result would be further increase of inflation (if they decide to accommodate it) or deflationary and recessive policies (if they perceive inflation as too high).  Second, payments linked to inflation (pensions, social welfare payments and, in some case also wages) can modify their real purchasing power, thus affecting real variables.





Q2 Discuss the reasons why one might expect, over the long run, countries with lower inflation to enjoy faster growth than those with higher inflation?



The relationship between inflation and growth is not easy to determine.  Multi-country studies highlight that low inflation is associated with high growth and hyper-inflation is associated with economic decline; but the evidence is less clear for countries in between. Growth has multiple causes and inflation is only one factor entering in its determination; yet, the costs for growth associated with inflation emerge clearly when we consider the long run: inflation is a threat to efficient allocation, fair distribution and trust in the economic authorities.



i) The price-adjustment mechanism cannot work efficiently. With persistent and high inflation, economic agents suffer a certain degree of money illusion and the price system functions less efficiently in adjusting demand and supply.



ii) Inflation changes the composition of investment. It induces savers to invest in unproductive 'inflation hedges' (real estates, foreign currency deposits) rather than in more socially productive assets, fuelling speculation. Thus, inflation impacts negatively on the capacity of the society to generate wealth, by causing the misuse of capital and by distorting the behaviour of entrepreneurs.



iii) Inflation redistributes wealth among categories of citizens. It helps borrowers in reducing the real cost of borrowing and hits lenders. It redistributes money from those whose incomes are fixed in nominal money terms to those whose incomes are inflation-indexed. This can cause major social tensions and, in case of hyper-inflation, also threaten democratic institutions.



iv) Inflation is self-reinforcing and once started it is difficult and costly to reduce.



v) Persistent inflation could reduce the attractiveness of a country to foreign investment and consequently it diminishes growth possibilities.





Q3 It is sometimes said that business tends to be soft on inflation because firms prefer an environment of rising prices to one of static or declining prices. Do you agree?



Rising prices have certain beneficial effects for business:



i) Inflation diminishes the real cost of borrowing money. Since firms are usually net borrowers, an inflationary environment redistributes wealth from financial institutions to companies, reducing their net debt.



ii) In a period of rising prices, it is more difficult for workers to maintain their real wage, this leading to a further reduction of real costs.



iii) Rising prices are positive for expectations because firms see the value of their output and their stock increasing over the time.



A more careful analysis of inflation distinguishes between these benefits in the short term and more important costs in the medium and long term. In the long term, individuals have zero money illusion, banks and workers index interest rates and wages to actual inflation so that gains from points i). and ii). are ruled out or can be maintained only if inflation (not prices) is continuously increasing.



But the major costs of inflation relate to the uncertainty and unpredictability that it introduces in the economic system:



i) Inflation is difficult and costly to predict.

ii) Sustained inflation lowers expectations of economic agents.

iii) It shifts resources from productive to speculative investments.

iv) It can create social disruption.



The evidence of the last ten years highlights that the decline in inflation is associated with an improvement in economic efficiency and social stability and this is good, not just for businesses, but also for economic growth.





Q4 Why do monetarists believe that sustained inflation is impossible without the explicit or implicit acquiescence of the monetary authorities?



We have to distinguish between the causes of inflation and causes of sustained inflation. Inflation can have different causes, it can be demand-driven or supply-driven.



Demand-driven inflation is due to shocks in the aggregate demand.  These shocks can be caused by optimistic expectations, tax cuts, government deficit or increase in the money supply that exceeds real output growth. In figure 12.1 we can see that all these changes shift the AD curve outwards to AD' having the effect of increasing price level from P0 to P1.



Also supply-shocks can cause inflation, through an increase in the cost of energy (as the two oil crisis of the 1970s show), raw materials (due to sudden shortages) or labour (if trade unions are able to contract an increase in the real wage higher than the increase in productivity). Firms will tend to pass higher costs on higher prices, fuelling in this way the inflationary spiral. Supply-shocks can be represented by movements of the AS curve leftwards to AS', moving the price level from P0 to P2 in figure 12.1. They have also the effect of decreasing the level of output and employment.



Whatever is the cause of inflation, monetary authorities are always responsible for fuelling and sustaining further price increases. The quantity theory of money is an useful start for understanding the reason:



	MV = PY
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If the velocity of money and output are fixed, we have a direct relationship between money supply and prices. If prices increase, the reason can only be the acquiescence of the monetary authorities. They can decide to increase money supply to accommodate a government deficit, or simply they can not to be able to calculate the right amount of money needed by the system (because of unexpected movements in the velocity of money or changes in the liquidity of some financial assets).





Q5 Inflation targeting by the monetary authorities involves three steps:

(a) deciding on a target inflation rate,

(b) forecasting inflation, and

(c) formulating and implementing a policy response should the forecast  	inflation rate deviate from its target level.

Comment on each of these steps.

(Note: further details relevant to part (c) of this question are provided in chapter 13).



(a) In most countries the central bank (CB) is responsible for maintaining price stability. Either the CB or the government has to set the target inflation rate.  In the latter case the CB implements the policy needed to reach the target, which has to be consistent with a sustainable growth. It should not be too high because it can disrupt growth in the long term.  A target of 1%-2% of inflation is considered by central banks of EU countries consistent with long term growth.



(b) Once the target is set, the CB has to compute actual inflation and forecast future inflation as it would be without any monetary policy change. This task is fundamental; because of the time-lag between the implementation of a monetary policy and the effects on inflation, authorities have to be aware well in advance of the future trend of prices. They forecast inflation using:



i)   Macroeconomic and econometric models;

ii) Lead indicators: movements in indicators such as capacity utilisation in manufacturing sector, house prices, exchange rates or order books tend to precede movements in the general price index. The forecasting is concerned to the power of these indicators in predicting inflation (e.g., a 3% increase in price 'x' will lead to 0.5% increase in inflation) and the time-lag of this relationship (e.g., the increase in the general price level will be in 12 months-time).



(c) In the case that forecast inflation exceeds the targeted rate, the CB has to implement restrictive monetary policy:

i) The CB needs to have a clear statement of its inflation objective, it  must be credible and it must be independent from the government 



ii) The CB has to be aware of the economic implications of its anti-inflationary policy, especially on exchange and interest rates.



iii) The CB has to know how and when to intervene.  Given the complex links between money supply and inflation, the CB usually sets intermediate targets (domestic credit, lead indicators, interest rates, exchange rates) and use policy instruments, with the appropriate time lag, to affect them: these instruments are direct measures (credit quotas, credit controls) and market-based measures (open-market operations, discount rate, reserve requirements).  See also Chapter 13, pp. 341-342.





Q6  Inflation which economic agents correctly anticipate is generally regarded as less damaging economically than inflation which is unexpected. Why should this be so?



Decisions are made on the basis of expected inflation. If workers predict a change in price level, they demand a corresponding pay increase, maintaining in this way the real wage. The equilibrium is instantly restored and the economic costs of inflation are minimised.



If inflation is unexpected, workers cannot anticipate it and they lose purchasing power. Single firms can also fail to anticipate inflation, bearing higher costs than expected and risk going bankrupt.  Unexpected inflation creates disruption in the efficient functioning of the markets because, by definition, it involves people trading at mistaken or 'wrong' prices in real terms.





( EXERCISES



Q1 What has been the inflation rate in your country in the past decade? What have been the determinants of this inflation?



In addressing this question, students should consult official statistics published by Central Statistics Offices and by International Organisations (i.e., IMF and OECD). Usually two series are represented, the rate of inflation at the end of the year and the average of the inflation rates during the year. What is the difference between the two?



Students should be able to see at least two peaks of inflation in the 1970s and decreasing inflation rates through the 1980s and the 1990s. Is this the case? Compare inflation rate trends with other variables linked to it (average wage in the manufacturing sector, interest rate, exchange rates, monetary variables) to infer causes and responses to inflation. Was inflation due to demand or supply-shocks? Was there any time lag between changes in these variables?





Q2 A central bank announces that inflation is 'public enemy number 1' and engages in restrictive monetary policy to reduce it from 6% to 3%.

What would be the likely effects, if any, on output and unemployment? Would your answer be different in the long run and the short run? Can disinflation be costless?



Classical theory provides a framework to represent this situation with the AS / AD model (figure 12.2).  Through the quantity theory of money we understand that the change in price level can be expressed as



	p = m + v - y



where the above variables represent percentage changes.  Given the velocity of money and the forecast change in GNP, inflation can be reduced decreasing the rate of growth of money supply.  The effect is to create a negative shock on aggregate demand with the effect of shifting the AD curve inwards in figure 12.2 (we approximate the model indicating on the axis not the real value of prices and output, but their percentage changes - inflation and growth rate).



The conclusions change according to the time horizon under consideration. In the short term, imperfections in the markets lead to a positively sloping AS curve (see Chapter 11, question 6).  Equilibrium moves from point A to point B: inflation decreases but not as much as needed.  The counter effect is a lower growth rate and therefore a lower total employment.



In the long term, markets work efficiently and the AS is vertical. After the process of adapting to low inflation, the original level of employment is reached consistently with lower inflation (movement from B to C), supposed to be 3% in this case. There are no recessive costs of a restrictive monetary policy in the long period.



However, this is not the only possible explanation. If certain assumptions are met, the system can move directly from A to C avoiding short-term costs. These assumptions are:



i)   the low target of inflation must be clearly spelt out by the central bank.

ii)  the Central Bank must be credible.

iii) the Central Bank must be independent (it must be able to implement the relevant monetary policy needed to reach the target).

iv) agents in the economy must have rational expectations.



If these conditions are met, economic agents know that the new target of inflation will be eventually reached and therefore they will change their expectations by now (for example trade unions will moderate pay increases and banks will lower nominal interest rates) allowing the system to adjust from A to C directly in the short term.



This orthodox way of looking at the economy, which is dominant in the 1990s and which rules out recessive costs of restrictive monetary policies, is challenged by the new-Keynesian position embodied by the concept of hysteresis (see Chapter 14, p. 367). According to this theory, the process of adjusting to low inflation involves a restructuring in the economy; new sectors grow and traditional sectors lose, leaving part of the workforce without employment. The implication is that the natural rate of unemployment increases overtime (after a deflationary policy) leaving the economy also with a structural cost in the long run. Students should look at real data to debate which theory gives a better representation of the situation in the 1980s and 1990s.
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Q3 Suppose the UK inflation rate were to rise from 2% to 10%. Indicate three sections of the community that would lose and three that would gain from this. List three reasons why a resurgence of inflation might be bad for the British economy.



Losses will be sustained by:



i)  Workers, if their wages are not indexed to inflation.

ii) Categories which payments are fixed in nominal money (pensions, unemployment benefits).

iii) Lenders who set fixed interest rates on their loans because they were not expecting high inflation.



Eventually, these categories will learn from higher inflation and bargain an increase in their payments consistent with the new level of inflation. However, they will suffer a real loss in the short period.



Gains will be shared by:



i)  Firms, which will see the real cost of borrowing money reduced.

ii) Other categories, which have borrowed money at a fixed nominal interest rate.

iii) The government, which sees the real cost of its debt reduced (through the 'inflation tax' the government pays part of its debt).



Also for these categories, gains will be maintained only in the short period. The adaptation to higher inflation for all the economic agents will be concluded in the long term, thus implying that these gains will be maintained only if inflation was continuously increasing.



Inflation might be bad for UK economy for the following reasons:



i) Inflation is a sign of instability and weakness in the management of macroeconomic aggregates. It would menace the credibility of the Central Bank in attaining its institutional goal of price stability and fuel speculations of further and higher inflation, thus disrupting the functioning of the markets.  Speculation could arise in financial markets (productive investments would by replaced by speculative investments) and in the currency market, leading to a devaluation.



ii) The government will be punished by the financial markets. Inflation will be seen as a way to finance the public debt and would arouse fears over the sustainability of the debt. Therefore, interest rates on government bonds will grow to compensate for the higher risk. Eventually, this will further endanger government's target of fiscal policy.



iii) Inflation will set in motion a new round of pay increases, feeding further price increases and creating an inflationary spiral.



It is easy to understand that this scenario of high inflation would not be consistent with the goals of macroeconomic stability, sustained economic activity and low unemployment.





Q4 Compare the recent inflation experience of emerging market countries with that of the industrial countries. Which group has the higher inflation? Which has the higher economic growth? What inferences do you draw from this?



Industrial countries had very high inflation in the 1970s. This was due to oil price increases decided by OPEC countries in 1973 and 1979.  Inflation has gone down, more or less linearly, during the 1980s and the 1990s. Emerging countries depict a very heterogeneous pattern:



i) Latin America inflation was sky-high during all the 1980s, mainly due to the debt crisis of 1982 and economic policies out of control. In recent years, macroeconomic adjustment policies have reduced inflation in some countries (i.e., Argentina, which has chosen an exchange rate anchor policy against the U.S. dollar).



ii) Transition economies of Central and Eastern Europe have experienced high inflation after the collapse of the former Soviet bloc. Inflation is still high with respect to western standard in almost all those countries.



iii) Asian tigers have medium-low rates of inflation since the 1970s.  This inflation can be ascribed to the high growth rates and attendant structural changes in those economies.  Here growth is causing inflation, rather than the other way round.  Causal relations, as we point out in the chapter, between inflation and growth are less clear in this medium range than at the extremes of hyper inflation and very low inflation.



�13 - UNDERSTANDING INTEREST RATES AND MONETARY POLICY



In economic theory, the interest rate is often considered as a single rate "fixed" by the central bank to control inflation, and which has a negative relationship with the level of investment.  While this theoretical simplification is useful to understand the functioning of the economy, the reality is much more complicated.  There is not only one interest rate, but a range of different rates, extending from the short to the long run and from low to high degree of risk.  Monetary policy determines the official discount rate but exerts only an influence over the level of the others.  Finally, expectations about future economic growth play a more important role in determining investment than interest rates.  In this chapter we explain the nature of interest rates and how they are affected by the different instruments of monetary policy.  The focus, throughout the chapter, will be on the fundamental role of expectations in driving, not only the decisions of monetary policy, but also the future trend of the main economic variables.  Some themes of this chapter are taken up again in chapter 16 where business cycles are discussed.





( QUESTIONS FOR DISCUSSION



Q1	"In the present macroeconomic situation, the requirements of non inflationary growth point to the importance of monetary policy in moderating demand where margins of spare capacity have virtually disappeared...It [monetary policy] should support a recovery of activity only where such margins remain large and there is little risk of inflation". (OECD Observer, August-September 1995, p. 48)

Is it possible or advisable, to attempt such fine-tuning for monetary policy? If the answer were yes, what monetary measures could be used to implement such a policy?



We have already seen in previous chapters the delicate relationship between inflation, unemployment and economic policy.  Monetary policy has a positive impact on activity only when actual GNP is below potential GNP.  Otherwise, if the economy already runs close to full utilisation of capacity, inflation occurs.  



While in theory the effect of monetary policy is clear, the relationship between money supply and inflation is now less predictable than it once was.  The variables we are dealing with are not directly observable, their estimates can be biased, predicted effects can be lagged, and the final outcome of the policy can be influenced by side-effects.



Using the AS-AD model, we show that monetary policy is effective only when the AS curve is horizontal (or positively sloping). If this is the case, as in figure 13.1, an easing of monetary policy (through a decrease in the interest rate) would sustain investment and economic activity, moving the AD curve outwards.  There are risks in implementing such a policy:



i) monetarists believe that inflation is always a monetary phenomenon. According to them, an increase in money supply only creates inflation.  If actual GNP is lower than potential GNP, real factors, e.g., rigidity in wages, have to be blamed.  If these are the expectations of the business community, monetary policy will be ineffective, fuelling inflation and endangering economic stability.



ii) even if monetary policy was effective, its efficiency would be dependent on a series of other factors, starting with the level of fiscal deficit.  If the public debt is not sustainable, an easing of monetary policy arouses fears that an inflationary tax will be used to finance the debt.  Financial markets would attach a higher risks to government bonds, and will demand a higher risk premium.  Interest rates would soon rise again and economic recovery would be postponed.



iii) the relationship between interest rates and inflation is lagged.  Monetary policy operates with a delayed reaction of 1-2 years.  To be credible, the central bank has to react, not to the present level of activity and inflation, but to their expected values in 1-2 year time.  Due to future uncertainty, volatility of expectations and faulty forecasts, such 'fine-tuning' policy requires good judgement to implement successfully - hence the art of central banking. 
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However, an easing of monetary policy usually helps the recovery after a recession. Monetary authorities try to influence commercial interest rates through:



i) direct controls: credit guidelines, interest regulations, administrative controls.



ii) market-based controls: open-market operations (supplementing liquidity to the system), official discount rate changes (decreasing the rate at which commercial banks borrow from the central bank), changes in reserve requirements (decreasing the minimum reserve required to commercial banks). 

Market based controls are preferred to direct controls because they avoid the problem of disintermediation. 



Q2 An investment report opened its 'investment outlook' section with the comment:

We expect the global economic environment to be characterised by moderate economic growth and relatively low inflation, a combination which should lead to relatively low interest rates also.

Is this statement referring to (a) the real interest rate, (b) the nominal interest rate or (c) to both? Explain.



In this situation, both interest rates are likely to be low.  Since inflation is low, nominal interest rates will be low relative to a high inflation environment.  And, since economic activity is moderate, demand for capital is likely to be restrained and therefore real interest rates are also likely to be low.   If the economy is small, however, the level of real interest rates will depend on external in addition to internal factors.





Q3 An investment report written in 1996 warned that:

There is a fear that, for political reasons, the UK government will 'go for growth' over the life of this Parliament by increasing spending and cutting taxes while being more lax about interest rates, thus fuelling inflation. That said, the feeling that interest rates have been raised at an earlier stage than in previous recoveries improves the likelihood that inflation will be kept under control.

(a) Discuss the effects of higher expected inflation on bond markets.

(b) Explain what the authorities might hope to achieve by raising interest rates at an early stages of an upward cycle.



The fear of an upsurge in inflation is due, in this case, to political reasons. In 1996, one year before general elections, investors feared that the government might 'go for growth', by loosening fiscal policy, with the aim of gaining another term in office. For an economy already in good shape, this would arouse concerns about the level of inflation.



(a) Because of fears that the government goes for growth, financial markets anticipate higher inflation.  Since bonds have a fixed nominal interest, a rise in expected inflation decreases the real return on bonds.  Demand for bonds diminishes and financial operators substitute away from them. To restore the equilibrium on the market, since demand decreases, the value of government bonds must fall, thus implying a rise in their implicit real interest rate.



For example, if the value of the bond is £100, with a coupon of £10, the real interest rate is 10% if there is no inflation.  If expected inflation is 5%, the real interest rate falls to 5%.  Demand for bonds decreases, as their price, until equilibrium is restored when the new price is around £67.  At this point, the nominal interest rate is 10/67 = 15% and the real interest rate is 15% - 5% = 10%.  For the government, this automatic process of adapting to new inflationary expectations means that financing deficits through inflation is ineffective if inflation is correctly anticipated.



(b) If the economic authorities raise interest rates, economic activity is slowed down.  Inflationary pressure eases and a strong signal goes out to the market that inflation will not be tolerated.  Eventually, the higher cost of borrowing money has a negative impact on investment and consumption, restraining economic activity and inflation.  Since this process has a time horizon of 1-2 years, the early move by authorities is welcomed because the final point of this chain is more likely to be reached before the economy runs at full capacity, that is, before inflation might rise.





Q4 Addressing a symposium in 1994, D.T. Brash, Governor of the Central Bank of New Zealand, remarked that 'the best contribution monetary policy can make to growth and employment is to maintain stability in the general level of prices'. (Address to the Federal Reserve Bank of Kansas Symposium, Reducing Unemployment: Current Issues and Policy Options, Wyoming, 1994).

Does attaining price stability implicitly mean that interest rates must be variable?



This statement presumes a monetary view of the functioning of the economy. According to monetarist economics, there is a distinct division between real and monetary variables. Growth is determined only by real variables whilst money only determines the overall price level. Therefore, the goal for monetary policy is to maintain price stability, while any attempt to influence real variables, through changes in money aggregates, would have the only effect of creating inflation. To avoid inflation, according to monetarists, money supply must grow at a pace equal to the growth rate of the economy. Following the quantity theory of money, prices would remain stable. The attainment of price stability is an important pre-requisite of a stable economic environment, it would give economic agents more certainty about the future and better expectations of growth. Moreover, the government would be free to focus on the existing bottlenecks (wage and price rigidity) which prevent actual output to be closer to the potential one.



Price stability does not mean stability of the real interest rate.  Price stability may moderate nominal interest rate fluctuations but does not eliminate them.  Interest rate changes are still needed to offset the inherent tendency towards cyclicality in many market economies (see chapter 16 for further details).



Q5 When the fiscal implications of German unification in 1990 became apparent, the yield curve steepened. Explain why this should have happened.



Interest rates differ according to the maturity of the loan. There are short term bonds (usually less than one year), medium, and long term bonds (for example a 10 year government bond). The curve representing the relationship between the time to maturity and the interest rates of bonds with different time-profile is called yield curve. Yields are represented in nominal terms and usually the shape of the curve is upward sloping, as in figure 13.2. The shape is determined by the following factors:



i) Time preferences. Consumption this year is better than the promise of the same consumption next year which, in turn, is better than the same consumption in 5 or 10 year time. To compensate for the longer wait, people are remunerated with higher interest rates.



ii) Higher risk.  An investment over 10 year time is more uncertain than an investment over 6 months.  To compensate for the higher risk, interests are higher.



iii) Expected inflation.  Besides these real factors, also expectations about future inflation must be taken into account.  Expectations lie behind the possibility that the yield curve might have also different shapes, for example being upward- or downward-sloping.  If economic agents expect higher inflation in the future, they will require a higher nominal interest in the long term; if they expect inflation to fall, they will require a lower rate of interest.



With respect to the German case, let us assume that before the reunification the yield curve was flat (because of expectations of price stability).  After 1991, the costs of reunification became clear - more unemployment and more spending for social welfare. Moreover, the decision to exchange eastern marks in western marks with a 1:1 ratio increased the real cost of labour (due to lower productivity in eastern regions) and boosted real money supply. In other words, in re-unified Germany both fiscal deficit and money supply increased, creating the perfect conditions to expect a revival of inflation.  To compensate for higher risks and to offset the impact of future expected inflation, nominal interests had to rise more than proportionately in the long term, thus implying a steeper yield curve. In figure 13.2, yield curve moved from y1 to y2 after the reunification.
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Q6 Suppose monetary policy 'eases'. How will the slope of the yield curve be affected? Explain how your answer might be influenced if the easing of credit led to a rise in expected inflation.



Recalling the previous question, if economic authorities ease monetary policy (in the sense that they increase money supply) two contrasting effects can appear. On one hand real interest rates would decrease and, given a certain level of inflation, also nominal interests would go down, thus implying a flattening of the yield curve. On the other hand, an increase in money supply would lead, given a certain level of economic activity, to an upsurge of expected inflation. To maintain the same real interest rates, also nominal rates have to increase, thus implying a steepening of the curve.



Yet, the final outcome depends on the relative strength of the two factors. In more technical words, the outcome depends on the relative position of the economy in the business cycle. If the economy is close to a peak (almost full employment of factors), the expansionary monetary policy provides the reason to expect higher inflation, higher nominal rates and a steeper yield curve.  If the economy is in a stable position, the yield curve is more likely to be unaffected.





( EXERCISES



Q1 On 7 November 1991, the financial press reported:

(a) The Federal Reserve sought to revive the US economic recovery by cutting the discount rate by 0.5 percentage points to 4.5%, the lowest in 18 years.

(b) The Fed explained that the discount rate was cut against a background of 'sluggish' expansion of the monetary and credit aggregates, and 'abating inflationary pressures'.

(c) The Fed's action was preceded by statistics indicating poor employment growth and faltering economic activity.

(d) Mr Michael Boskin, the chief White House economist, said lower interest rates would help the economy, but warned that there might be a lag of one or two quarters.

(e) The Financial Times reported that the Fed's action 'reflected growing evidence that the economic recovery has stalled' and 'followed heavy pressures from the White House which was "rattled" by polls indicating disapproval of President George Bush' handling of the economy'.

Comment on (i) the reasons advanced for the Fed's cut in the discount rate, (ii) the likely effects of this action, and (iii) the sectors likely to be most affected by it.



i) The main reason behind the Fed's decision lies in the anti-cyclical goal of economic policy. Poor employment growth, faltering economic activity and abating inflationary pressures mean that the economy is in a period of stagnation and is leading towards the bottom part of the present economic cycle. Recalling the AS / AD model represented in figure 13.1, the present position shows an important gap between actual and potential growth. The Federal Reserve uses monetary policy to stimulate investment and aggregate demand through a decrease in the official discount rate.



ii) The likely effects are the following: commercial banks will pass on to customers the decrease in the official rate through similar decisions affecting the level of commercial interest rates. New investments will be more likely to be implemented (due to the lower cost of borrowing money) and this will lead to a multiplier-accelerator effect (see also Chapter 16). Expectations will improve because operators see in the Fed's decision the end of the 'bad times' and this will reinforce positive expectations. Eventually, the growth rate and the level of employment will increase and the economy will move towards the positive side of the cycle. As the White House economist says, this process will not be instantaneous. The first positive effects on the growth rate will take around 3-6 months from the Fed's decision.



iii) The first sectors to benefit from the decision will be the sectors producing investment goods and durable consumption goods, the ones that are more sensitive to changes in the interest rate.  Public goods are naturally the less sensitive to economic fluctuations (demand for health or education is quite stable throughout the cycle).



Q2 'The bond market lost its momentum as higher than expected inflation lowered expectations of another German rate cut'. Interest rate analysis stresses the role of market expectations. Explain the logical sequence behind this statement.



The sequence starts with the decision of the Deutschbank to lower the interest rate. We do not know the reasons behind this decision: probably the actual growth rate of the economy was not close to the estimated potential growth rate and this move was aimed to sustain investment and aggregate demand.  The policy has been effective to the point where inflation has now reached acceptable levels.  Hence the prospect of further interest rate deductions has disappeared, and with it the likelihood of a further rise in bond prices.  Hence the bond market "lost its momentum".





Q3 'Monetary policy must be defined in terms of its final goal. For us, this final goal is, without any shadow of doubt, price stability'. (Dr. H. Tietmeyer, President of the Bundesbank, address to the Zurich Economic Society, November 1993).

(a) What does price stability mean?

(b) Comment on the usefulness of money supply targets as a guide for monetary policy.

(c) In the speech from which the above quotation is taken, Dr. Tietmeyer noted that 'the German money demand function has turned out to be stable'. Explain the significance of this remark.

(d) Suppose money supply exceeds its target in a particular period. What action could or should a central bank take in a response?



a) Price stability does not mean exactly zero inflation. As question 1 of Chapter 12 reminds, a little bit of inflation is beneficial for the markets and for the economy. Zero inflation might easily hide, due to bias in the estimate, a situation of actual deflation which might be as dangerous as rising prices. A goal of 0% - 2% of inflation is nowadays considered as 'price stability'.



b) The central bank has the ultimate objective of price stability and disposes of the monetary policy tools to influence prices. Because monetary policy works with a delayed reaction of 1-2 years, the actual goal is not current inflation but future inflation. To control it, authorities use an intermediate target: money supply. In using money supply as an intermediate target, the central bank first drives an estimate of money demand which is consistent with inflation target. Hence, it announces a target money supply to equilibrate the market for money. Recalling the quantity theory of money, the demand function for money takes the following form:

	log m = a + b log y + c log p - d log i

where m is money demand, y = real income, p = the price level and i = nominal interest rate. The steps to determine money supply are:



i)  To estimate the parameters a, b, c and d of the money demand function.

ii) To replace y with the estimate of potential growth for the following year and i with the interest rate set by the central bank itself.

iii) To replace p with the target level of inflation.

iv) To estimate the change in money demand and hence the change in money supply required to match it.



c) The previous procedure works if and only if the parameters of the equation are constant or if their change can be estimated. If this is not the case, the central bank is not able to predict that rate of expansion of money supply which is consistent with targeted inflation. In recent years money demand has demonstrated to be unstable in most countries for several reasons:



i)  The velocity of circulation of money has changed (due to technical innovations as the automatic teller machines and new financial products)

ii) The velocity of money has changed differently for different definitions of money supply (velocity of narrow money has increased, of wider money has decreased).

iii) The change in velocity can be a direct consequence of monetary policy, thus creating a feedback in the equation and a bias in the estimate.



For Germany, according to Dr. Tietmeyer, demand for money has turned out to be stable. This implies that the money demand equation can be trusted and that money supply is still a useful intermediate target to control inflation.



d). If money supply exceeds money demand, a more restrictive monetary policy will be implemented using the standard tools: open market operations, discount rate changes, direct controls, persuasion etc.







�14 - UNEMPLOYMENT



Going further into the details of macroeconomic issues, we now turn to the second major problem that a society 'should' avoid: unemployment.  Unemployment has adverse economic, social and psychological consequences.  In this chapter, the significance of unemployment and its spatial and temporal aspects are highlighted.  Causes, remedies and policies aimed to tackle it are then analysed.  Opinions differ on the best way of tackling unemployment problem but 'new consensus' conclusions emphasise the importance of wage flexibility and appropriate training and education.  Unemployment is certainly a multi-faceted problem and the theory has always to be continually adapted and confronted with real situations that can vary across countries.





( QUESTIONS FOR DISCUSSION



Q1 Why should business be concerned with the problem of unemployment?



Unemployment has economic and social costs to society and, therefore, also to business:



i) unemployment means that the productive capacity of a society is not fully utilised.  This implies foregone income, an actual growth rate below the potential growth and, from a business perspective, a lower level of demand, sales and profits.



ii) In most developed countries the state provides a social welfare 'safety net' consisting of unemployment assistance and benefits.  High unemployment means high public spending which has to be matched by an increase in taxes.  Taxes negatively affect business directly through a decrease in after-tax profits and indirectly through a cut in consumers' disposable income.



iii) Unemployment can also create a hostile social and political environment. 



iv) In the long term it alters the skills, motivation and self-esteem of unemployed, rendering them unfit to take up new jobs in case of availability.



While unemployment has costs for business, some benefits can also arise:



v) It improves work efficiency, by making people less inclined to take their jobs for granted.  In periods of high unemployment, workers are more grateful for the job they have and they are easier to manage.



vi) It diminishes trade-unions' power, allowing more favourable conditions for firms, including pay-moderation, when contacts are renewed.







Q2 (a) Explain how the demand and supply curves of labour are derived in the classical model. Comment on the realism of the classic assumptions relating to the labour market.

(b) Show how technological progress might affect the labour market in this model.



(a) The labour market, in the classical theory, does not work differently from  any other market. The quantity of the good under examination (labour) is a function of its price: the real wage.  Real because there is no money illusion: employers (employees) are only interested in the real cost (purchasing power) of the wage. Equilibrium exists where the upward-sloping supply curve meets the downward sloping demand curve.



Employers derive labour demand from the production function. Total production is determined by the amount of capital and labour employed, and by the technology used. Assuming for the moment capital and technology to be fixed, we can represent output as a function of labour as in figure 14.1 (a). From the production function we now derive the marginal productivity of labour - figure 14.1 (b) - which is downward sloping because, by employing one more unit of labour, total output increases but less than proportionally.



Since marginal productivity of labour (MPL) represents the increase in production that firms get from using one more unit of labour, employers decide to hire an extra worker if and only if the extra revenue that they get (marginal revenue) is at least equal to the extra cost (marginal cost): when MPL is equal to the real wage (wage / price).



Marginal Revenue = Marginal Productivity of Labour x Price

Marginal Cost = Wage

Firms hire workers until profits are maximised: Marginal Revenue = Marginal Cost

Therefore: MPL x Price = Wage

or: MPL = Real Wage



If the real wage goes up from (w/p)0 to (w/p)1 firms will reduce the quantity of labour demanded from L0 to L1.



Supply of labour is derived from the analysis of how individuals decide to spend their time between labour and leisure. Since the wage rate is the opportunity cost of leisure, an increase in the real wage raise the cost of not working. Therefore, individuals would decide to supply more labour and to substitute away from leisure: the supply curve is upward sloping.



Since leisure also has a psychological and social 'remuneration', although not economic, the response of each individual to increases in the real wage is more complex and could also lead to a downward sloping supply curve: if your wage went up to £1,000,000 per hour, you would probably supply only one hour of work per week or per month, (decreasing labour supply) and dedicate the rest of the time to leisure activities. Unfortunately, this eventuality is rare and, for the sake of simplicity, the classical model considers only the upward sloping part of the supply curve (figure 14.1 - b).
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(b) Technological progress implies the introduction of new machines capable of producing more output per unit of time and labour. In figure 14.1 (a), the production function, after a technological breakthrough, shifts upwards.  The effect on the labour demand curve depends on the slope of the new production function at each level of L.  This, in turn, depends on the nature of the technological change: labour saving, capital saving or skill-intensive.  In the case depicted above in figure 14.1 (b), assuming that labour supply does not shift, equilibrium will be restored moving from A to B, the new point being consistent with higher wages and more employment.



To provide a general framework of the effects of technology on labour, a few observations are needed.



i) Much technological progress has been labour-displacing.  New machines have replaced workers in onerous and boring jobs, increasing the standard of living of a population.



ii) As a consequence, new goods and services have been demanded and new jobs have been created in different and new sectors.



iii) Serious 'mismatch' and adjustment problems can arise in the short period because unskilled workers are not able to fill positions requiring highly-skilled labour.



iv) Education and professional training are therefore necessary to adapt labour supply to the new labour demand.





Q3  'Unemployment is high because wages are too high and employees are pricing themselves out of a job' (business economist).

'Reducing pay and employing people in low-wage jobs will depress national spending and make unemployment even worse' (trade union official).

Evaluate these two opposing view of the unemployment problem.



These two statements are representative of the supply-side and the demand-side approaches to unemployment respectively.  The former is derived from the classical labour market analysis and summarises the orthodox position on unemployment advocated generally by business confederations, liberal parties and central banks.  The latter is of Keynesian derivation and is closer politically to workers' confederations and social democratic parties.



According to the supply-side approach, the labour market always clears at point C, where demand equals supply (figure 14.2 - a).  If unemployment exists, the reason is the wage rate being too high. If, due to rigidities in the labour market, the real wage (w/p)1 was higher than the market-clearing real wage (w/p)0, unemployment would arise, the extent of which would correspond to section AB in the graph.  If market mechanisms were allowed to work, excess supply at (w/p)1 would drive down the real wage until a new equilibrium would be reached at point C: if workers accepted a lower real wage (w/p)0 unemployment could be avoided. In this way, producing something, even at low productivity, is better than being unemployed and producing nothing. Pay moderation and flexibility in the labour market are the keys to resolve unemployment.



The second approach is based on the Keynesian theory.  This model gives more emphasis on demand-side issues.  Its rationale can be explained as follows: suppose that workers agreed to a cut in wages with the aim of reducing unemployment, as the classical analysis of labour market would suggest.  The positive effect described above would be outweighed by a negative aspect of this policy, should we consider the level of aggregate demand in the economy. Due to lower wages, employees would have less money to spend; aggregate demand in the economy would decline, as would sales and prices. This situation would lead towards a recessive spiral with negative expectations and therefore disinvestment and unemployment. The negative consequences on the demand for labour of a depressed economy would easily offset the positive effects of lower pay. This situation can be represented as in graph (b), figure 14.2.  In an economy where the price mechanism is too slow and uncertain to ensure full employment (represented by YF), the fundamental reason for unemployment, according to this view, is the lack of aggregate demand due to wages being too low. Therefore, recommended policies to fight unemployment are policies aimed to sustain wages and aggregate demand.



Policy analysis must be careful in assessing the importance of both components of unemployment, which can vary across countries and overtime.
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Q4 The introduction of a national minimum wage has been proposed as a solution to the problem of 'underpaid' workers. How would you expect this measure to affect the level of unemployment?



From the simple analysis of figure 14.2 - a, we assume that a minimum wage is set at (w/p)1, higher than the current one (w/p)0, determined by the market. This gap would create an excess of labour supply and, consequently, would lead to unemployment (represented by section AB).  In a segmented labour market, the minimum wage does not affect skilled and well-paid workers but only low-paid, low-productive jobs.



i) an improvement in the social and economic conditions of those in work occurs, diminishing the number of workers below the poverty threshold.



ii)  the conditions of those (represented by section L1L0 in the figure), who are not able to be employed at the higher minimum wage deteriorates thus creating an insider-outsider situation in the labour market and worsening income distribution among unskilled workers.





Q5 What is meant by hysteresis in the context of unemployment? Discuss the importance of this concept in assessing the economic costs of unemployment.



To understand the concept of hysteresis, we need to start from the definition of the natural rate of unemployment. This is described as the unemployment rate created by institutional and economic rigidities. If rigidities occur (minimum wage and replacement ratio being too high, occupational and geographical immobility, work legislation, tax wedges, rigidities in the product market, asymmetric information), the real wage tends to be higher than the market-clearing wage, leading to unemployment (see Chapter 14, pp. 354-360). In this regard, the natural rate of unemployment is also defined as the unemployment rate running at the current real wage: recalling figure 14.2(a), if the real wage is (w/p)1, the natural rate of unemployment is represented by AB / OLF.



After economic shocks (e.g., an oil price increase) or periods of recession, unemployment rises, but is expected to return to the original level when the recession is over (figure 14.3 - a). Hysteresis theory tries to give theoretical support to a contradictory evidence which shows that unemployment, far from reverting to its original level after these shocks, remains high (figure 14.3 - b). In other words, unemployment, once created, develops its own dynamic. There are several causes for hysteresis are these and can be listed as follows:



i) Unemployment causes depletion of human capital, loss of motivation and loss of self-esteem for the unemployed, particularly for those individuals out of work for a long period. This 'depreciation' of human capital is perceived by the employer who becomes unwilling to hire long-term unemployed people, thus perpetuating and deepening this spiral.



ii) Recession leads to restructuring of the economy. Labour-intensive sectors are gradually replaced by capital and skill-intensive sectors. This process creates a mismatch in the labour market between supply and demand: low skilled redundant workers have greater difficulties in finding a new job.



iii) Asymmetric information between the applicant's self-knowledge and the employer's perception of the applicant creates a 'market for lemons'.  Unemployed people offering labour at a wage below the existing one, instead of clearing the market, tend to increase employer's suspicion about the applicants' skills, rendering their access into the labour market more difficult.



iv) Efficiency wages and trade union power both tend to stiffen the labour market, the former from the demand side, the latter from the supply side.  This implies a deepening of the gap between insiders (high wages and better protection) and outsiders (higher unemployment and market for lemons).
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From this list, economic and social costs due to hysteresis can be exacerbated and described as follows:



i) Unemployment, in technical terms, means under-utilisation of human capital. It represents a permanent loss of potential income and wealth not only to the society as a whole, but also to the unemployed individual and his/her family.



ii) Unemployment has psychological costs (loss of self-esteem and motivation) and social costs (marginalisation, violence and crime) which go beyond any economic analysis.



iii) In a number of countries, where unemployment benefit schemes exist, a higher level of unemployment increases social welfare spending, worsening public accounts and jeopardising economic stability.



iv) Because of hysteresis, deflationary policies can have lasting costs on real variables also in the long run (see exercise 2, chapter 12), a possibility that is ruled out by the classical model.





Q6  Who are the 'insiders' in the labour market and who are the 'outsiders'? Discuss the relevance of this distinction to current unemployment in Europe.



Insiders are workers currently employed while outsiders are workers currently out of work, (unemployed).  The former are so called because they are 'inside' the process of bargaining wages and work conditions and are represented by trade unions. In the bargaining process, trade unions attach more importance to the level of real wage and work protection (rendering dismissals more expensive and difficult for the employer) than to the introduction of means for cutting unemployment through pay moderation and flexible work contracts.  In technical terms, recalling figure 14.2 - a, the cost of labour rises from (w/p)0 to (w/p)1 and this improves conditions for insiders but increases the number of outsiders (those who are now represented by section AB) and worsens their situation.



In analysing the importance of this distinction for Europe, students are encouraged to browse through figures for unemployment, wages and trade union membership in different European countries and in Europe as a whole vis-à-vis the United States.



European figures tend to show higher trade union participation, higher wages and higher unemployment compared to the United States. Furthermore, social protection legislation in place in most European countries acts to protect the unemployed through unemployment benefits which, on one hand, improve their social conditions but, on the other hand, increase the replacement ratio rendering the tackling of unemployment more difficult.





Q7  Is faster economic growth the answer to Europe's unemployment problem?



The relationship between growth and employment is neither simple nor linear.  Because of technological progress, growth can be sustained with low or no labour creation at all.  In developed countries, growth is attained intensively through higher productivity (more output per unit of labour) rather than extensively (same productivity but more units of labour).  Technological progress is not neutral: it tends to be concentrated in sectors, periods and countries where the cost of labour is high, by decreasing the number of workers and increasing their productivity.  Therefore, growth can be insensitive to unemployment if it is attained by a shift from labour-intensive to capital-intensive technologies. 



Growth in itself is not the answer to unemployment, but it can certainly help to reduce it.  Faster growth means more demand for labour and higher wages.  Prospects improve and replacement ratio problem reduces.  But the link between unemployment and growth is not automatic.



European figures suggest that in the past twenty years economic recessions have raised the number of unemployed, but booms have not cut them, giving support to the hysteresis argument.  The comparison between EU and U.S. data suggests that the problem of EU unemployment lies in the high level of rigidity in the labour market. Hence the need for the EU to supplement its policies with direct measures on the labour market:



i)  Reduction of the tax wedges.

ii) Relaxation of labour legislation.

iii) Reorganisation of unemployment benefit systems.

iv) Education and training policies.



From an European perspective, faster growth will be a consequence of reducing unemployment through labour flexibility, as much as a solution itself to the problem.





( EXERCISES



Q1  Provide statistics on unemployment trends in a country of your choice. What policies are currently being applied for reducing unemployment? Would you classify them as Keynesian or classical? What other policies would you recommend? (A useful source is the OECD's annual publication, Employment Outlook).



Students should link unemployment trends to pay trends, reforms of the social welfare, strikes (proxy of trade-unions importance), inflation and the growth rate. In this way they could learn more about the nature of unemployment (cyclical vs. structural), the geographical and occupational composition and the duration in order to provide useful policies aimed to reduce it.  A useful case study might be the Netherlands which has succeeded in reducing its unemployment rate from 12% in 1983 to 6.9% in 1997.





Q2  Explain how business decisions might be affected by a country's unemployment rate. If you were investing in a region or a country, would you be attracted by the existence of high unemployment?



The answer to this question is more related to the country's type of unemployment and labour policy implemented than to the level of unemployment itself, rendering the decision of whether or not to invest dependent on a series of issues:



i) If unemployment is caused by high wages, powerful unions and rigid labour market, it is likely that firms, ceteris paribus, will decide to invest in other countries.



ii) On the other hand, unemployment can be caused by the lack of capital or investment opportunities. If market-friendly labour policies are implemented, with the target of reducing unemployment, thus moderation in wage settlements and flexible contracts (temporary and part-time jobs) could attract investment. Depending on the composition and the skills of the labour force, the type of investment more appropriate to the country under consideration will be chosen.



iii) Generally investors do not recruit directly from the unemployment register.  They are much more concerned with supply of suitable labour from schools and third-level education.  The education system in the host country tends to be investigated carefully by investors.





Q3  Suppose there was a sudden and unexpected increase in wage settlements in the economy. What policies would you propose to deal with the threatened rise in unemployment and inflation?



The trade-off between two different targets in economic policy management is evident in this question.  Economic authorities have to decide whether or not to tighten monetary policy.



i). If they tighten monetary policy, they put a stop to the possible inflationary spiral that could arise following the wage increase.  From a business perspective, aggregate demand will fall and it will be difficult to raise prices to compensate for higher wages. In order to protect profits, firms will cut production.  Hence, price stability would be maintained at the expense of higher unemployment.  If the labour market were flexible, at the time of the next settlement, workers would accept lower wages thereby reversing the process described above.



ii). If authorities relax monetary policy, firms will increase prices.  In real terms, the equilibrium will be maintained at the previous level of employment but inflation will be allowed.  There will be also the risk that workers, at the next wage settlement, will ask for a new pay increase, thus starting an inflationary spiral.





Q4  Explain why unemployment hits the unskilled worker harder than the highly skilled. List some of the implications of this different incidence for policy.



A recession often requires a re-shaping of both the economic system as a whole and the production process of the single firm. Labour-intensive sectors with low productivity and mainly unskilled workforce are replaced by new capital-intensive sectors in which technical knowledge and high skills are required from workers. At the micro level, firms substitute away from labour to machines which are cheaper and highly productive. A different type of worker, who has the technical knowledge of programming and fixing the machine, is now required.



Unemployment of skilled workers is mainly cyclical (due to a lack in aggregate demand) while unemployment of unskilled workers is mainly structural (the structure of the economy changes). Therefore policies should be differentiated according to the type of unemployment. With reference to unskilled unemployment, emphasis should be given to training policies, education and the elimination of labour market rigidities.



�15 - FISCAL POLICY, BUDGET DEFICITS AND GOVERNMENT DEBT



One of the most important developments in macroeconomics in the last twenty years has been the shift of attitude with respect to fiscal policy.  From emphasis on Keynesian expansionary policies (implemented in the whole western world since the 1950s) and their effectiveness in accelerating growth, dampening economic fluctuations and cutting unemployment, we have now turned to a more orthodox approach in which the long term costs of fiscal expansion and prolonged budget deficits are stressed.  From a business perspective, this change in attitude is important because efficient governments, lower taxes and market-friendly policies are a priority for the private sector.  In this chapter, after a comparison between the two different approaches to fiscal policy, the limits of fiscal activism are highlighted together with an analysis of fiscal policy in EU countries, driven by the Maastricht criteria.





( QUESTIONS FOR DISCUSSION



Q1 Business often supports the objective of fiscal rectitude in the belief that it will lead to lower taxes. Explain how these two phenomena are linked.



Business is affected by fiscal policy in several ways and emphasis is given in the 1990s to an approach that requires fiscal rectitude, this word meaning the sustainability of the debt (i.e., a constant or decreasing debt : GDP ratio).  The link between government spending and taxes is becoming more clear in the 1990s, enlightened by the long term effects of fiscal deficits.  In the long run, as the debt : GDP ratio increases due to continuos fiscal imbalances, countries start to pay a 'debt penalty': their governments borrow in order to pay interest on previous debt.  As the interest burden grows, over time the deficit becomes a source of structural distortion: eventually fiscal deficits will not be sustainable anymore and taxes will start to rise in order to service the debt.  This will have a depressing effect on investment and growth.



Fiscal imbalances can lead to structural distortions.  Also, a rising debt : GDP ratio arouses fears that a government will not be able to pay back its debt if not by creating inflation. The financial markets will demand a higher interest on government bonds to compensate for the higher risk.  Eventually the interest payment will increase furthermore worsening the debt : GDP ratio and calling more vigorously for a stop in borrowing.   Unless expenditure can be curbed, the only alternative is a rise in taxes.



Reversing the argument, fiscal rectitude can create a positive spiral in the economy, above all for countries that are heavily indebted, a phenomenon suggesting that fiscal contraction can be expansionary.  If a country with a large deficit makes a commitment to reduce its deficit and provided that its government is fully credible, the risk premium in long-term interest rates will decline, thus having expansionary effects on investment and consumption.  Furthermore, the burden of interest repayment on previous debt will be reduced, making the implementation of budget commitments for the government even easier.



Finally, we need to add that fiscal rectitude does not necessarily imply lower taxes: a low level of borrowing can be attained either decreasing public spending or increasing taxes. However, the general belief is that the former is the most effective and efficient way of achieving fiscal targets.  Taxation, if it gets too high, inhibits entrepeneurship and stimulates tax-dodging, while low spending leads to low interest rates: this is a self-reinforcing mechanism which improves business expectations and confidence in the future.





Q2 A lobby group suggests a constitutional amendment to the effect that government budgets must be balanced, arguing that allowing politicians discretionary power leads to large deficits and escalating debt. Analyse this proposal.



This proposal targets one of the main limits of fiscal activism: political interference into fiscal policy management. In theory, it is possible to manage fiscal policy in a way that budget deficits in recession are followed by budget surpluses in boom, keeping an overall stability in the public debt burden. Empirical evidence does not support the theory: the debt : GDP ratio tends to rise in periods of recession but does not fall in periods of expansion. Two main reasons can be highlighted:



i) Budget deficits are more popular than budget surpluses.  A government asking for austerity in a boom period to reduce the public deficit is not politically popular; people (until few years ago) were less concerned about the long term and future costs of borrowing.



ii) Discretionary management of fiscal policy leads to a political rather than economic timing.  Governments tend to exhibit fiscal activism before elections (hoping to win another term in office) and fiscal consolidation after elections (hoping that the public's recollection of their actions might have receded by the time of next elections). Therefore fiscal activism risks becoming pro-cyclical rather than counter-cyclical leading to economic instability. This can have serious consequences when the size of the government sector reaches 50% of the GDP as in most European countries.



Limiting the discretionary power of politicians over fiscal policy would have the positive effect of eliminating (or diminishing) the costs above mentioned.  A constitutional amendment would forbid governments from using fiscal policy in order to gain their political survival.  Another positive effect would be on the government's credibility: financial markets will reward consolidation policies when they are trustworthy, and such a constitutional amendment would be a sign of strong credibility.  Through a decrease in interest rates and expectations of lower taxes in the future, this would create an expansionary effect in the economy.



Unfortunately there is also a downside.  In periods of deep recession, fiscal policy still has a role to play. When external disturbances or domestic shocks happen, fiscal expansion can be the medicine to avoid dramatic costs in terms of unemployment, although the fiscal instrument is now less effective than in the past (mainly for small countries and for single countries initiatives).



The Maastricht criteria, with their emphasis on a 3% limit in the budget deficit of member countries, attempt to curb the discretionary power of EU governments.  The aim is to gain a reward in terms of lower interest rates from the financial markets, to start a spiral of expansionary fiscal contraction and to provide a stable single currency to the markets.  The fear is that, should a serious recession hit Europe, governments would not have the possibility to use the fiscal instrument to practice 'coarse-tuning' policies, in Lindbeck's phrase.  In this regard, students are invited to analyse the different interpretation of Maastricht criteria given by France and Germany.





Q3  The government plans a reduction in income taxes, to be financed by borrowing, with the aim of increasing demand to stimulate the economy.  Discuss this policy proposal.  In your reply, comment on the perspective of Ricardian equivalence proponents on such a proposal.



This is a typical expansionary policy and the effect depends on the time horizon under consideration and on the expectations of investors and financial markets.  The rationale behind this proposal is represented in figure 15.1 and corresponds to the Keynesian idea of fiscal policy management.  A decrease in taxes augments disposable income of households: more money is spent in consumption and investment goods, stimulating the economy and cutting unemployment.  In Keynesian terms, the aggregate supply curve is horizontal until the point of full employment.  A decrease in taxes implies a shift outwards of the AD curve, increasing output and employment through the fiscal multiplier (in figure 15.1, AD moves to AD' increasing output from Y0 to Y1).



This positive effect is counterbalanced by other negative effects: if the reduction in taxes is financed by borrowing, the excess of money demand leads to an increase in the interest rate with adverse effects on investment and consumption.  The AD curve, because of the reduction in investment and consumption, moves leftwards.  According to Keynesian economics, this crowding out in private expenditure is only partial (AD' moves to AD'' and the final equilibrium is in Y2) but it is complete according to classical economics (AD' moves back to AD and the equilibrium remains in Y0), thus rendering fiscal expansion policies ineffective.



While this analysis refers mainly to the short term, more important is the effect of fiscal expansion in the long term, which is linked to the issue of sustainability of fiscal deficits.  While Keynesian economics seems to work in the short and in the medium-long term (after all, expansionary fiscal policies have provided Europe with full employment and higher standard of living since the end of World War II until the 1970s), its analysis of affordability in the long run has proved wrong.  Keynesians thought that fiscal expansion could be financed largely, and perhaps entirely, through an increase in taxation revenue obtained from higher output.



Empirical evidence reveals instead that, because of continuos borrowing, the burden of public debt has grown.  In the long run, the unsustainability of the debt creates further costs.  The loss of credibility in the ability of a country  to reduce the debt leads to a rise in the interest rate: the interest repayment becomes the most important part of a country's deficit and the government has to borrow just to pay interest on previous debt.



The solution to this spiral is twofold: either taxes have to be raised in order to achieve a balance in public accounts, or expenditure has to be curbed.  Both instruments imply a movement inwards of the AD curve, crowding out the previous gains from expansionary policies.  However, these contractionary policies can be expansionary if better expectations on the future level of the interest rate stimulate private spending (see also question 5).
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The final outcome of expansionary and contractionary fiscal policies is far from clear and further complications, also in the short run, are explained by the Ricardian equivalence.  According to the Ricardian equivalence, an expansionary fiscal policy financed by borrowing can be ineffective also in the short term.  The reason lies in the rational expectations of economic agents.  They know that borrowing can not be sustained for a long time and that, sooner or later, it has to be financed by a rise in taxes. They expect this and, in anticipation of higher future taxes, they increase saving now, in the period of fiscal expansion.  This contraction of private spending offsets the beneficial effects of increased public spending.  The empirical evidence of Ricardian equivalence theory is mixed and its limitations can be listed as follows:



i) Taxpayers could decide 'rationally' to pass the burden of the debt to future generations, if public debt can be rolled over for very long periods.

ii) Imperfections in the capital markets could prevent economic agents from behaving rationally.

iii) Reactions appear to be sensitive to the debt size.  Ricardian equivalence may apply only when the debt has reached a certain threshold.





Q4  Discuss the ways in which a persistent budget deficit could lead to inflation.



The government has three ways to finance budget deficits and each of those could lead, in certain circumstances, to inflation:



i) Borrowing from private sector.  If the budget deficit is financed through borrowing, and if the deficits persist, potential output will be reached and inflation may be initiated.  Also, as the debt ratio rises, financial markets could fear that the government may be tempted to 'inflate' its way out of the debt, borrowing from the central bank.



ii) Borrowing from the central bank.  If the central bank decides to accommodate fiscal deficits by purchasing government bonds, it releases new money in the economy.  The effect of an increase in money supply on inflation is straightforward, as the quantity theory of money shows.  Hence, inflation becomes a tax that economic authorities raise to alleviate the public debt burden.



iii) Budget deficits could be financed, alternatively, through a rise in taxation.  In this case, the effect on inflation is less direct.  Business could be tempted to raise prices to maintain their mark-up, eroded by higher taxes.  Moreover, an increase in taxation is often perceived as postponed adjustment; financial markets will punish such a behaviour through an increase in the interest rate attached to government bonds.  An inflationary spiral could thus be started.





Q5 Explain why, and how, a country's public debt, if it exceeds a certain threshold level, might lead to a contractionary budget having a stimulating effect on aggregate demand (expansionary fiscal contraction).



The core of the problem, here, is to understand the role of expectations on future policy actions and interest rates. Since a high public debt is regarded as dangerous for the economy (because it is a source of instability, inflation, high interest rates and high taxes), policies aimed to reduce it through fiscal contraction give encouragement to economic agents and financial markets. If a government of a highly indebted country makes a firm commitment to reduce its debt and, if the government is stable and credible, the contractionary policy is seen as a guarantee of price and financial stability. The premium will be a declining long-term interest rate due to the lower risk.



This reduction has positive effects both on investment (lower cost of borrowing money) and on consumption (particularly of durable goods). Furthermore, the lower interest rate helps the government in reducing the cost of debt allowing either a cut in taxes or giving room to an expansion of primary balance. These expansionary effects might outweigh the traditional negative short-term impulse derived from fiscal restriction, thus creating a sort of 'crowding in' effect. Contraction through spending cuts is more effective than through increase in taxes: high taxes worsen competitiveness and can give to the markets a signal of postponed adjustment.



There is some empirical evidence of this expansionary fiscal contraction in EU countries, transition economies and developing countries, particularly in countries where the debt is so high that is considered unsustainable by financial markets (the positive effect on interest rates of the Italian budget policy in 1997 is an example).





( EXERCISES



Q1 Assume the following situation occurred in an economy:

Unemployment rises and output falls dramatically, consumption and investment declines and prices actually fall. Furthermore, the stock market crashes.

Propose remedies for this situation.



This situation, resembling the great depression of 1929, is mainly due to a self-reinforcing crisis of confidence and pessimistic expectations over the future.  Such a situation could worsen if the economic authorities responded proposing fiscal balance. Balanced budget is not, in all circumstances, a sign of good economic management.  In this situation, the government ought to use a mix of expansionary fiscal and monetary policies:



i) The government should expand fiscal policy through public consumption and investment. These policies would support aggregate demand, replacing private expenditure and sustaining employment and income.



ii) The central bank should avoid restricting money supply.  Deflation can be as dangerous as inflation in some cases (see Chapter 12, pp. 306-307).  Falling prices have deteriorating effects on consumption (consumers wait to purchase today in the hope to get a lower price tomorrow) and investment (the real cost of borrowing and producing rises).  A real money expansion would help prices to rise again:



iii) When the recession is over, the government should resume normal policies of fiscal balance and price stability.  Fiscal balance will be helped by the increase in tax revenues due to the recovery; price control will be welcomed as a sign of financial and economic stability.  Eventually the normal path of growth and policy management would be restored.



Policies that the new classical school tells to avoid are recommended here. This just shows that macroeconomics is once more a question of judgement.  A policy is not good or bad overall but its effectiveness depends on a series of considerations: expectations of the financial markets, level of confidence in the economy, level of unemployment, level of inflation, fiscal budget, trade balance.  Not only might optimal policies vary between normal and extraordinary times (although it is hoped that situations like the Great Depression will not happen again) but also in normal times their effectiveness depends on operators' expectations (e.g., the different way in which Keynesian fiscal policies are perceived now, compared to twenty years ago, plays an important role in downgrading fiscal activism).  While the case for fiscal activism has been heavily qualified by the new economic consensus, fiscal policy can play a 'coarse-tuning' role when the objective is the avoidance of  major deviations from potential output. 





Q2  The 1996 Annual Economic Report of the European Commission stated that (in reference to the French economy):

fiscal consolidation is a necessary condition for a stable macroeconomic environment conducive to growth and employment. It should enable an easing of monetary policy, compatible with monetary stability objective, which should offset the adverse effect on economic activity of budgetary restraint. (p. 24)

Explain each step of this argument by answering the following questions:

(a) 	What is a stable macroeconomic environment?

(b) 	What is meant by fiscal consolidation?

(c) 	Why is (b) necessary for (a)?

(d) 	Through what mechanism would (a) be conducive to growth and employment?

(e) 	Revise your understanding of the terms 'an easing of monetary policy' and 'monetary stability' (see chapter 13).

(f) 	What evidence would you wish to consult in order to be satisfied that monetary policy could be 'eased' without endangering 'the monetary stability objective'?



(a) A stable macroeconomic environment is attained when inflation is low (or prices are stable), public accounts are under control, interest rates are low and market-friendly policies are implemented.



(b) Fiscal consolidation means stability or decline in the debt : GDP ratio.  This depends on the current nominal interest rate (i), the nominal growth rate of the economy (g) and the ratio debt : GDP (k) (see appendix 15.1).  To maintain a constant debt : GDP ratio, since the government spends for interest repayments on current debt, a primary balance (b) has to be attained, as determined by a formula such as:

	b = (i - g) k



(c) When the debt is not consolidated, future interest payments place pressure on the ability of the government to meet its liabilities.  Interest rates will rise, worsening further the financial position of the state and depressing private expenditure.  Such a situation creates economic and political instability. 



(d) A stable macroeconomic environment helps to ensure the efficient working of the market system (see also Chapter 12).  In such a stable environment, and with the help of market-friendly policies in the capital and labour markets, business investment will increase and growth and employment will be attained.



(e) An easing of monetary policy means lowering interest rates and allowing faster monetary growth.  Monetary stability means that money supply expands to accommodate money demand in line with real growth of output plus allowing for up to 2% inflation.  



(f)  Actual GDP must be below potential GDP; if this is not the case, inflation arises because the economy already has full utilisation of capacity.  Also one would like to be assured that there is no evidence of actual or incipient cost inflation in the economy.





Q3 Would an average, well-run business agree to limit itself to a zero borrowing target over the business cycle? Why do some business lobbies urge governments to constrain government spending according to this rule? Is this a sensible rule for governments to adopt?



Business operators are concerned about the effects of fiscal policy on the private sector. From their point of view, zero borrowing means low interest rates and low taxes which are positive for them. 



Yet, a well-run average business hardly limits itself to a zero borrowing. The firm borrows money to finance its productive activities.  But the amount borrowed is limited: otherwise interest repayments would exceed profits, and the company would go bankrupt.  State borrowing is not subject to any such automatic market discipline and that is why it must be subjected to special scrutiny.  If the state borrows from the private sector, this borrowing should be monitored so that the debt : GDP ratio could be maintained over the business cycle to a certain threshold which is considered sustainable.





Q4  A country has a debt ratio of 130% of GNP, it pays 10% interest on this debt and its nominal growth rate is 7%. What primary balance (as per cent of GNP) should it be targeting if it wants to stabilise the debt ratio? You are told that its total deficit is currently running at 9% of GNP. Does this country have a fiscal problem?

Another country has a debt ratio of 40%, it pays 7% interest and its nominal GNP is growing at 6% annually. Its present total budget deficit : GNP ratio is 1.7%. Is this country's debt ratio growing or declining?

Do these figures approximate the position of any of the countries which are listed in the tables to this chapter?



We recall the basic formula to answer this question:

	b = (i - g) k

where (b) is the primary surplus, (i) is the nominal interest rate on the debt, (g) is the nominal growth rate of the economy and (k) is the size of debt : GNP ratio to stabilise (more complicated formulas can be derived to take account of other dynamic elements in the debt equation).



For the first country the formula writes as:

b = (10% - 7%) x 130% = (0.10 - 0.07) x 1.30 = 0.03 x 1.30 = 0.039 = 3.9%

Hence the primary surplus must be 3.9%



Total deficit is the sum of two components: primary balance and interest payments on the debt. For this country we have:

9% = b + (10% x 130%) 

0.09 = b + (0.10 x 1.30)

0.09 = b + 0.13

b =0.09 - 0.13 = -0.04 = -4%

Hence the country has currently a primary surplus of 4%, which is higher than the target for sustaining the debt. This country is slightly reducing its debt : GNP ratio.



For the second country we have a target primary surplus b which is:

b = (7% - 6%) x 40% = (0.07 - 0.06) x 0.40 = 0.01 x 0.40 = 0.004 = 0.4%

A primary surplus of 0.4% is sufficient to stabilise the debt : GNP ratio at 40%.



Since total deficit is

1.7% = b + (7% x 40%)

current primary deficit is

b = 0.017 - (0.07 x 0.40) = 0.017 - 0.028 = -0.011 = -1.1%

hence current primary surplus is 1.1%. Since 1.1% is higher than the required 0.4%, this country is actually reducing Debt : GNP ratio.



The first country under examination recalls Italian figures while the second one recalls the fiscal situation of the United States.





Q5 New Zealand's Fiscal Responsibility Act 1994 requires the government to identify and publish its fiscal objectives. The New Zealand government has specified prudent levels of public debt to be below 30% of GDP in the short run and below 20% in the longer term.

Are these targets high or low by international standards?

Would you recommend other governments to follow New Zealand's example?



New Zealand targets are certainly low by international standards.  For example we recall that EU target is 60%, while US ratio was 38% in 1996.  Fiscal rectitude is one of the reasons of the economic success in New Zealand in the 1990s.  New Zealand is now in the enviable position of having low debt : GDP ratio, low interest rates and high growth rates.  It now has the possibility to run modest fiscal expansion policies when hard times appear without jeopardising its fiscal and macroeconomic stability and being consistent with the target of growth and employment in the long run.



New Zealand is an example of how fiscal rectitude can help to reverse economic decline.  It shows that economic growth and fiscal consolidation do not necessarily clash.  New Zealand's example of publishing fiscal targets reduces political interference into the economic management and improves government's credibility (see also question 2).  Its experience has influenced many other countries, but each country is different and one must be careful before recommending the transplant of one country's fiscal policies to another.  But few countries could fail to learn something useful from this most radical experiment in refashioning economic policy.

 

�16 - BUSINESS FLUCTUATIONS AND FORECASTING



While economic fluctuations are an endemic feature of industrial economies, their causes, timing and length are still a matter of debate and research.  This chapter focuses on the effects of cycles on economic growth and business activity. Consequences are different depending on whether we consider the whole economy or an individual firm. Firms can be hit differently by a recession according to their own characteristics (size, industry and type of capitalisation); in general terms, an investment decision has a different outcome depending on whether the economy is leading towards a trough or a peak. This problem leads to the importance of having accurate forecasts of economic activity that might affect the future yield of the firm. But forecasting is a very difficult and complex process and economics still has to make its own way through it.  We should keep in mind Lawrence J. Peter's definition of an economist as "an expert who will know tomorrow why the things that were predicted yesterday didn't happen today"!





( QUESTIONS FOR DISCUSSION



Q1 Why do economic cycles (or business fluctuations) occur? What are the implications of these fluctuations for business?



There is no unique cause for cycles and a mixture of different factors can be traced behind each fluctuation. These factors are not elusive but they reinforce themselves and some economists give more emphasis to particular aspects than others.



i) Some theories of the business cycle focus on the intrinsic instability of the free market.  Investment is highly volatile and depends on future expectations of sales and aggregate demand. If they change, upward and downward spirals might be set in motion. When forecasts are positive, firms expect better turnouts and profits; they decide to increase production and stocks. Their increased demand for inputs improves prospects for other firms, stimulating employment, aggregate demand and further investment.  The multiplier-accelerator model is a way to formalise these considerations.



ii) Other theories focus on external supply shocks due to economic (oil crisis) and non economic reasons (wars or earthquakes).



iii) Shifts in the aggregate demand can also cause fluctuations.



iv) There can be policy induced shocks. As we have seen in chapter 15, management of fiscal and monetary policy can be driven by political more than economic considerations, thus leading to possible pro-cyclical policies, a likely eventuality when government decisions are influenced by the approach of general elections.



v) Others try to find a meeting point between the previous theories by explaining cycles with wage and price rigidity. Fluctuations occur, they say, because prices are not fully flexible. If prices were not rigid, an external shock could be overtaken by a downward movement of wages. Also a downward shift of aggregate demand would cause prices to decline and real money balances to increase, inducing people to spend more until effects of the initial decline were completely offset. Using AS/AD model, explained in Chapter 11, students could graphically represent these fluctuations.



vi) Real business cycle theory emphasises the role of exogenous technology shocks in the context of a flexible price market economy.  



Business is particularly interested in fluctuations because the level of turnover and profits depends on the position of the economy in the cycle. If the economy is leading towards a trough and expectations are bad, investment decisions are likely to be postponed to avoid further losses. Low sales and lack of remuneration can sometimes jeopardise the survival of the business and have a negative chain-effect on other firms. While some firms are more sensitive to cycles than others, the exposition of business to fluctuations in the economic activity rises the importance of forecasts for a more precise planning of future business activity.





Q2 Would you expect government intervention to increase, or to diminish, the amplitude of business cycles?



Government intervention mainly affects business cycles by reducing their amplitude but, on the other hand, some economists believe that governments can have perverse effects on cycles because of pro-cyclical policies. We can distinguish between the effects of the presence of the public sector and the effects of a change in economic policy:



i) Government spending is less sensitive than private spending to cyclical conditions. This is due to the nature of the services provided by the government (health, education, justice and other public goods have stable demand also during a recession) and to the lesser sensitivity of state corporations to market forces (their investment decisions are less sensitive to fluctuations in expected profits). Therefore, because public spending is more stable than private spending, if the share of the public sector in GDP increases, cyclical amplitudes diminish .



ii) Automatic stabilisers play a role in moderating the effect of private sector's volatility, thus decreasing the amplitude of cycles.



iii) Apart from automatic instruments, also fiscal activism can stabilise the economy.  Although in the 1990s there is a much more critical approach to expansionary policies, the ability of governments to counter the effects of major crashes or downturns in the private sector has diminished fluctuations in the business cycle. 



iv) Government intervention reduces economic fluctuations by stabilising expectations. If economic agents and markets believe that the government would intervene, should the economy reach a 'floor' or a 'ceiling' in real growth, the approach to those levels would automatically reverse expectations on the future and would help to invert the direction of the cycle.



v) On the other hand, while the nature of the public sector and government intervention helps to stabilise the economy and explains why the amplitude of the cycles has diminished in our recent past, there is also the possibility for the government to create a perverse outcome. Fiscal policy can be driven by political rather than economic considerations: expansionary policies are more likely to be implemented before an election, contractionary policies when the election is over (see chapter 15, question 2). If, for this reason, a contractionary policy is implemented during a recession, the effect would be to amplify, not to diminish, the magnitude of the cycle.



Yet, the overall effect of government intervention on the economic cycle is not certain. While the empirical evidence is consistent with less pronounced fluctuations, the mismanagement of fiscal and monetary policy might provoke an actual amplification of the cycle.





Q3 It is often assumed that business cycles have little effect on the long run growth of the economy. In other words, the business cycle represents transitory deviations around a given trend growth rate.

Do you agree? If this statement were true, why should economists be concerned with economic cycles?



This statement is based on the assumption that the growth rate in the economy is independent from fluctuations around the trend. Empirical evidence does not support this theory: instability in a country's growth rate seems to be negatively related to the growth rate itself. Instability of aggregate demand and prices is an impediment to growth and when stability is greater, growth is higher. Sustained growth creates a positive climate for innovation, competition and reallocation of resources which, in turn, tends to create faster growth.



However, if this statement were true, we should still be concerned with economic cycles for at least a couple of reasons.



i)  from a macroeconomic perspective, the short run economic and social costs of a recession, in terms of unemployment and inflation, are of concern not only for economists but for the whole society.  Given the average growth rate, a stable economy is to be preferred to an unstable one because it diminishes the costs associated with recession and with increased uncertainty.  For this reason a good understanding of economic cycles leads to a more effective deployment of the policy instruments available to reduce the amplitude and the related costs of these cycles.



ii) the cycle is important because in a world of imperfect capital markets and imperfect foresight, the timing of investment decisions can play a crucial role in determining the viability of a firm.



Q4 Discuss why official interest rates tend to move downwards between a peak and a trough in economic activity, and upwards between a trough and a peak. How would such a pattern in interest rates affect business decisions?



Economic variables respond differently to each stage of the cycle. Some are pro-cyclical, others are counter-cyclical, others are acyclical. The real interest rate is mainly counter-cyclical even if the timing of its movements does not completely overlap the cycle of economic activity. Nominal interest rates are instead pro-cyclical. Students can find evidence of this fact analysing real figures.



The reason of this behaviour has to be searched in the relationships between the interest rate, inflation and investment. Let's start from the trough of the cycle.  To stimulate the economy the central bank allows the real interest rate to go down but in nominal terms, because of rising prices, the nominal interest rate increases. Eventually this policy will have the further effect of improving expectations, sustaining investment and aggregate demand.  Growth will be restored and the economy will start an upward cycle. With growth also inflation will start rising, with an acceleration when the economy approaches the point of full capacity.  At that stage authorities will start to use the monetary tool to decrease inflation.  The real interest rate will rise and therefore investment will suffer. This will provoke a downturn in expectations with the nominal interest rate falling because of decreasing inflation but with the real rate still growing. Inflation will be brought under control at the cost of a new recession.  Eventually we approach a new trough and start a new cycle.



Business decisions are strongly affected by the level of interest rates and economic activity.



i) Firms will need to analyse the past trend of different variables (economic activity, inflation, official discount rate, fiscal deficit) to understand the amplitude and length of the fluctuations and in which point of the cycle they are at the moment.



ii) using forecasting methods, they will try to predict future values of the real interest rate. 



iii) if they forecast a reduction in the interest rate, they will be more willing to invest, because of expectations of higher sales, lower costs and greater profits. Since interest rates hardly overtake a certain threshold, much attention will be paid in understanding whether the economy is at the turning point, after which interest rates would start rising, profits declining and new investment more likely to be postponed.













( EXERCISES



Q1 Show how you would present a macroeconomic forecast of the economy (choose between the US, German, French or UK economies) to other business people. What use, if any, could a firm make of such a forecast?



Students should not only focus on the trend of the growth rate but understand the strict relationships between the trends of different economic variables and between different countries. A macroeconomic forecast would include the following steps:



i) A brief introductory economic and political outlook for the country under consideration.



ii) The past trend of economic activity should be examined in conjunction with a selection of other variables. Growth rate of the economy, inflation rate, official discount rate, public deficit, public debt, industrial production, cost of labour, exchange rates are the most relevant. To be more accurate also the trend of the relevant variables in other countries should be analysed. For example a change in the German interest rate is likely to affect the interest rate in other European countries and therefore it should be taken into account if students analyse, for instance, the French economy.



iii) A graphical representation of the trends might help in the process of scanning regularities and links between variables in a more convenient way. A graph for each cycle should be obtained: looking at the whole time series for each variable, points of similarity and contrast between cycles can be highlighted. Looking at more variables together, can give additional insight on how the variables are linked and help the forecaster in answering the following questions: when will the variable change? By how much will it change?



iv). At this stage, statistical and econometric models are used to enlighten the future trend of the relevant variables.



Forecasting is really a difficult task and the links between variables can be more complex to predict than the simple evidence of few graphs might suggest.   To judge when a variable has bottomed out or peaked and starts to change sign is particularly difficult.



A firm has a wide range of uses for forecasts. The future growth rate and the future level of economic activity are important to predict the level of demand and therefore its own sales and profits. Profits are also linked to expected inflation. Inflation itself and the interest rate are important to determine the expected cost of a planned investment which, however, depends also on the future level of aggregate demand. Forecasts about other countries' level of activity and exchange rate are important to determine the costs of production (if inputs are imported) and future profits (if output is exported).





Q2 A stockbroking firm provides your business with a quarterly review containing forecasts of GNP growth for one, two and three years ahead. You are asked to evaluate the forecasting record of this firm. How would you propose doing this?



We know that forecasting is a very difficult task and that forecasters are more likely to be wrong that to be right.  That said, some forecasters are less wrong than others. How to judge them? The best manner is to compare past forecasts with real figures and use the root mean square error technique (RMSE). According to this technique, the difference between the actual value and the forecast value is computed and then squared to standardise positive and negative errors. The square root of the average is then computed: the larger the RMSE, the less accurate the forecast. Of course, only forecasts with the same time horizon have to be used in the technique: hence, we will get three series and three RMSE, corresponding respectively to the one, two and three year forecasts.



At this stage, RMSE for this firm can be compared to RMSE for other firms or, in absolute terms, with the performance of simple random walk technique, where the forecast value of a variable is assumed to be the same as its actual value this year. If RMSE for random walk is lower than RMSE computed by the firm, perhaps the services of this stockbrocking firm should be discontinued!
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Figure 11.1 Derivation of AS curve in the long term and in the short run rrunterm
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Figure 11.2 - Market for money with money supply controlled by the Central Bank
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Figure 11.3 - Effects of an increase in Aggregate Demand in the short run (upward sloping AS)
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Figure 11.4 - Outwards shift in AD (a) and outward shift in AS (b)
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Figure 12.1 - Demand shocks and supply shocks in the AS/AD model
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Figure 12.2 - Effects of a restrictive monetary policy on inflation and real output
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Figure 13.1 - Effects of an expansionary monetary policy when actual output is lower than potential output
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Figure 13.2 - Yield curve for German interest rates before and after the reunification
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Figure 14.1 - Equilibrium in the labour  market (b) starting from the production function (a)
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Figure 14.2 - Two alternative analysis of unemployment: the classical model (a) and the Keynesian model (b).
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Figure 14.3 - Natural rate of unemployment: the classical model (a) vs. the hysteresis theory (b)
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Figure 15.1 - The effect of expansionary fiscal policies
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